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QlL In the given figure find the angle of

LABC,
f2e e fAa A LABC &1 #1a1 Fira HifAe)

Maths By Pradeep Sii




Q2. In the given figure, what is the value of
% LI L2V LIV LA LB =7

? E P A, L1424 234 ,4+.5 & ATH TN
I
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(C) 360 (D) 450




Maths By Pradeep Sii

Q3. In the given figure, £BAC = 70°, £ACB =
45° and 4DEA = 140°. What is the value of
LBDE?

& o pfad A, LBAC = 70°, LACB = 45° dT
£DEA = 140° 1 .BDE &1 ATl &1 £?

(A)10° (B)15°




Q4. In the given figure, EF = CE = CA, What is
the value of LEAC?

AR AEF=CE=CAZ @ LEAC &1
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QS. In a given figure, If AD = DE = EC = BC

thencA:4B=7?
RemefdmfadAaR Ap=DE=eCc=Cc A
LA : 2B &1 ATHA 1 2M?

[ J@e:s

(C)3:1 (D)1:2




Q6. 2 sides of triangle are of 4 cm and 10 cm.
If 3rd side is length of 'a cm then which is

correct value for a.

vs fAefm 61 2 4 A aem 10 A, sl
¢ agstane afd &1 g o A, 2,
Mo BA-TMATA AL L ?

(A)a>5 (B)6sas12
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Q7. In a triangle ABC, O is any point inside
the triangle then which one of the following

is correct?

> o Ao asc S i S AT 2, ot flosr A A
& . BRI SUYATAL?
j:; 2(0A+0B+0C)>(AB+BC +CA)

A ‘J. > AR (OA+0B+0C)<(AB+BC+CA)
- AC) 2(AB+BC +CA) > (OA+0B + 0OC)

[As] +ed > Ac (D) (AB+BC + CA) > (OA+ OB + OC)




Q8. ABCD is a quadrilateral AC and BD are
its diagonals then which one of the
following is correct?

ABCD US t 32 Ac Janm BD 4|
mg,m%ammmm?

A éAB*BC* CD+ DA} » (AC +BD)
B) (AB+BC+CD +DA) < 2(AC +BD)

(C)BothAandB /ZaiT A 3ZE
(D) None of these | 3T & &8 S1El




2 +b >c”/ Q9. The 3 sides of an acute angled triangle
9:./7" are 1517 and x cm. if x is an integer then

s, 17, x how many such trian%n are possible ?
) S ﬁuﬂ?qamﬁnga dia1 aferme 15 A, 17
IS +x*) 13 aaft 3z x A T xmqvﬁata}m&aﬁ

225 4t 5 229 | 13428y ) Ry Hora B

I3y 9= (a)1
r"{»‘i] A2 2

(C) 29 (D)15

— e

/I
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Q10. if the perimeter of a triangle with
integer sides is 32, what is the largest

possible length of the longest side?
A +b+ec= 3 af2 fas=h AT AT fAagw &1 ufdany 32

¢ FaA aft ofon 1 Hora ATel A EIN 2
L F ' 9§ ©@w & /5 (o)s




Dydb = Y Q12. if a and b are the lengths of two sides of
a triangle such that the product ab = 24,

where a and b are integers, the how many
dri? | 348 |yx¢ such triangles are possible?

af? a 3z b f5aft e H 2 aont 35 v ¥
Q’H:| R -1 L] Qs %0!):24,@0 bmmlmm
s T :93 e faa e dara ¥ »
T (A)n2 (B)18

—
, | XM ij
. TS 9 J |
// /(‘ / (C) ‘s
. 7 §
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Q13. Which of the following represents the
sides of an acute angled triangle?

fdss & A Saa, vS & Ram &
apoaif @ zerfan &2 e

L &, 10 2 l4‘1 4Ly 100 (A)s;g'w‘ (8) 7, 8' 10

Tha> o0 / ":\ (C)5,12,13 1 (D) None of these




Z-

(2”4 b* )¢ ﬂ Ql4. Two sides of a triangle are 12cm and 15
.. . cm long and the third side is integer, then
& 15 | %] what is the largest value of third side for
which tri- angle is acute.
DL‘ . fa=f fa 21 oot 12 A, aem 15 A, 2
14 Wz X aan qmmqwfmtmiﬂ’aﬂqwmn
. yfdwan Fa & 2N aifds RAam sgarso
ey x Ry
¢
11 5x Y e (8) 18




Q15. Which of the following combination of
a +b 2€C sides results in the formation of obtuse
angled triangle?

B Ay & a A ool &
Q+b = 2 ReAf3faa satora A SYaan daras & 2 2

aty e
(D) None of these

XS +2 <\
1L +35 ¢S

(1 £¢C
\{\(36 \1

F
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Q15. Which of the following combination of
sides results in the formation of obtuse
angled triangle?

B Ao & wsa A oonll &
fReafafaa datds A saa daaa adi ¢ 2

(A)6,7,13 (B)5,6,8

(C)4,5,6 (D) None of these




Q16. In an obtuse angle triangle the length
of side opposite to obtuse angle is K cm and
length of remaining two sides is 12 cm and
17 cm. how any such triangle are possible ?

v dfds Sl R A fdls S & Ao H
ﬂgmﬂ TRl 32 3T A oo 12 At sz 17
|
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fRaga dara 2
(A)7 (B) 8
(C)9 (D)10
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Ql17. In AABC, ¢.A = 68°. i | is the incentre of

£\ the triangle, then the measure of BIC is:
/ea \ __ AABC # ,A = 68° 10} | Rym @1 sia Bz ¢, A
\ " LA | «BIC & FY FTa B2
/ \\ Aot 3
_1 N> (A)124° (B) 68°
(b . \
(C)148° (D) 54°




Q18. If one of the angle of a triangle is 64°,

A- then the angle between the bisectors of the
: Lo* ? ) other two interior angles is:

%}\ af2 f&ft R & AA TS 64° ¢, A 3=
2 yiaf® & Fafgaos & &t &1 S
gem: |
(a) 100° | (8 12;1
(C) 96° (D) n2°

ﬂ0+302 > \QQ
M —
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Q19. In the given figure, the angle bisectors
of B and C of an isosceles triangle intersect

) at point O. Find the angle BOC (in degree),
- when £ABC = L/ACB = 75°

& et mﬂ,mﬁﬁgﬂtma M C
+ m.ﬁ:fz 1 &1 BOC &1
o ( #A) ST B¢, Ad LABC = LACB = 75°

e
(A) 105 " (B) 147.5

(C)160 (D) 170




M.i"h\ 8" p!.l(’(’(‘[i S ' -

4 Q20. In a AABC, the bisectors of 4B and C
/>\ meet at O. If ZBOC = 142° then the measure
/ of A is:
/ \ AABC & £B 3R ¢ & FafRanors sy w2 A4
/ \ 2102 .BOC =142° £ @ LA &1 ATH ATd BL|

/ <2 \ (A) 52° (B) 68°
/ N
('/ //"/
N (e)ne° r(o) 104"(




A

/\ o‘o-f

X

Q2. In AABC, AB and AC are produced to
; » Points D and E, respectively. If the bisectors
= of .CBD and BCE meet at the point O and

£BOC = 57°, then A is equal to:

AABC &, AB 312 AC & a2l A D W E T

agran wran 21 af? .ceo (BCE &

aafgenas g w2 fA=a €, 3k .Boc = 57° ¢,

al LA &1 AT SATd B2
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Q22. In APQR, PS is the internal bisector of 4P
meeting Qrats, PQ=16cm,PR=22.4cmand
22t QR = 9.6 cm. The length of SR (in cm) is:
APQR #, PS, S U2 QR & fASA a1 P &1
Hiafes fRamas 2, PQ =16 cm, PR = 22.4 cm

) | — \p 3“2Ql:=9.6cmtl5ﬂﬁﬁ?!f(cmﬂ)m

oy

03 (A)se |, ..o (Baa

~hel 3 S¢ (c) a4 (*9“;5 (D)6




Q23. In AABC with sides 6 cm, 7cm and 8cm,
the angle bisector of the largest angle
divides the opposite side Iinto two

G segments. What is the length of the shorter
segment?
AABC &t oo 6 Afl., 7 Aft., 3z 8 A
qaa @@ B AARHTAS TTHSA aATHA! AT
P | -~ @3 N A RanfAa Hzan 21 B Tz &1 Farg
‘ G ; E fasft g ?
Bo- B (A) 24/5 (B) 21/5

12 —~

Y(g) Aab OELLE




Maths By Pradeep Sit i .

Q24. In a triangle ABC, D is a point on BC
such that % - Z—?. if «zB = 68° and <C = 52°,
then measure of £.BAD is equal to:

fRsf asc Ap TnBc v P fAG R 6 2 =
%0 af? /B = 68° 3T .C = 52° @ LBAD BT ATH

m R ——
weo [T 53, | [(@aer]
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/‘ Q25. In AABC, AD the bisector of LA, meets
BCatD.HBC=a AC=band AB =c, then BD

L L ~DC=
\ AABC &, LA &1 FARHTAS AD £ Wt BC S D

y \ wf@AsartiaRkec=a AC=b3lZAB=c 2 @
8 / | - BD - DC fasafaf@da & A fFad azraz g ?
| . 9 b, b
L — ac ac+o)
A W) (B) —
A N A ' S ———

L+ & ‘_4\1_»((-;,‘- ( a(c-b) a_b
4 J (C) c+b L (D) b+c
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} Q26. In AABC, D is a point on BC such that
Ay AD is the bisector of £A,AB =1l.7cm, AC =
L / 2.8 7.8 cm and BC 13 cm. What is the length (in

cm)of DC ?
/ AABC # D, BC W2 & B fAg 2 f& AD, A &1
B L " AAGAHTAS ¢, AB = 1.7 A, AC = 7.8 At 32
3 ? BC=133M2 AocHhFdaf (AN A a2

(A) 5.6~_‘ N s (B) 7.8
- 25,5 @82l * «  (0)es

J | J
Ea :

-

|




41 [18°] Q27. PQR is a triangle, whose area is 180

/’o‘ ® cm?. S is a point on side QR, such that PS is

e 3 the angle bisector of 2.QPR. If PQ: PR = 2: 3,
// then what is the area (in cm(B) triangle

/ PSR?

., PQRUS fAem ¢, Prae dawes 180 A 21 s,

Q2 S 3 g nww%mmtﬁps LQPR U2
PQ:PR =2:3 ¢, @ fAs
2 Psnmm(ﬂ’ﬂ)*mt’
L. T (1) 90 T8)108
_q (C)l1a4 D
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, Q28. The perimeter of AABC is 24 cm and its
4% side, BC = 9 cm. AD is the bisector of £.BAC
C / while | is the incentre. AL ID is equal to -
/ " b AABC &1 ufRfAfA 24 Af ¢ 32 386 awTBC =
/ 1 9 Aft ¥ .BAC T FHARarA® AD B, Tald |
/ 3a: g 81 Al 1D TR 2-
6 > +bt €= R
: (A) 7:5 1 . (B) 5:2
‘ — - (becse \qj
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//Z/ Q29. In the given figure, ABC is a triangle.

2| The bisectors of internal 2B and external <C
intersect at D. If £.BDC = 48°, then what is
the value (in degrees) of £A?

1 ﬂﬂiu@ﬁ?mcwﬁaﬁtlmiﬂ

& - Heafe® den «c & ag fRamas @ p w2

ufdedz &2a 21 af? .BDC = 48° §, @ LA &1

A p




Q30. In a triangle ABC, AB: AC 5:2.BC =9
cm. BA is produced to D, and the bisector of
the Angle CAD meets BC produced at E.
What is the length (in cm) of CE?
fAs(c1 ABC A AB: AC = 5:2, BC = 9 cm ¥1 BA
& D dF TSI AT § T ST CAD &I
HTA® Tg1E 18 BC A £ W fA&an 21 ce &
5aT8 (ecm ) F1a &2

(A) 6 (B) 9

Maths By Pradeep Sii

(C)10 (D)3
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Q3L In AABC, 4B = 72° and 4C= 44°, Side BC
iIs produced to D. The bisectors of 4B and
LACD meet at E. What is the measure of
LBEC?

AABC &, £B = 72° 32 .C= 44° 81 3wn BC, fAy
D d&® ag1E vt 21 «B M .AcD & Ramors
e @Asat i Bec HlaaaFm e ?

C.l (A) 58° (B) 46°

E - LA
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Q32. if the altitudes of a triangle be 3,4,6
find its in rodius

] — .4...‘._.4-..'.-

- T T ke h & &3 3,4,6 01 @ 38 R 61
= . : mqaﬁ%mmh a
/ | | (A) 3/4 (B) 4/3
AR

(C)e/7 (D) 5/4
) \j+"J*J
—. -
v 4’3
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Q33. If the given figure point | is the incenter

of AABC then find EC.
fRv sre A3 & af? 1|, AABC &1 3ea: HZ £ A EC

& sFard sira HifAv)




Q34. If the given figure CE - BC = 6 then find

Maths By Pradeep Sir

" ) C‘% | ,B : j the value of BE.
oy i e e fa A af? ce-8C = 6 2 @ Be & Fard
. ra HifAe
C g By (A) 12
i bl B)18

x4

A
. e .
{ rE; X &2] ( sl (€)%

‘(D)6
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p w A
A &*’Yi . 35. Re e A A .8AC = 120° R AD, .BAC &
. A . 1
e/ e @ FAfgaree 2 1 AR — - R
A e \;" /5 4o LEDC = 2ECD B, @ 2B &1 #Ta Sra HifAe)
. 320, (A) 40
(B)20
i C) 60
— 2 o AR A B At
_’;l- At o, 32 3 —
¢ €ec ‘ FEYM A £ ¥+ | |
tc . e a /;;ff V AExR)
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f'/ 36. If the following figure, AD bisects angle
FENNINS W% BAC. Find the length of BD.

" fdsst angpfd A AD ST BAC &) FaAfganfAa
4 Y-y wzan g1 8o & sFard sva HifAe)

=
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A
' £ "’ - ';’r» g.” 37. What is the inradius of the a triangle
' ”h whose
VS side are 13,14, 15.
E =3 13 U o # dia: A e &2, ok I

2

a_(mt!mal: 13,14 301215
j e ) A)S

XIEE =Yy 4

j:fg' AV \” 'ITZ e (C) 3
— (D)8
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/ 38. PQR is an isosceles triangle with sides
£ PQ=PR=45cmand QR = 72cm. PN is a
/ median to base QR. What will be the length

% . (incm) of PN?

e 1@ ] PQR HAMRATE R ¢ TS oo PQ = PR =
45 A3M. an Qaa"gz aM. 21PN mmlz‘_%a &1

et 21 PN ST Saarg (A3 A) & ?
/ s (A) 36

a5 / 15
D) 32
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& . 39.Ina AABC,  the sidesare AB=16cm, AC =

Ny 63 cm, BC = 65 cm, From A, a straight line

z/ % AM is drawn up to the midpoint M of side
BC. Then the length of AM is equal to :

¢ AABC &1 3TITE AB =16 cm, AC = 63 cm, BC =

& 65cmeIARA BC & Aty fdg M & S

8 33, TS TEAT AM et 21 am & Ssard aTrar

<

" ‘4 ’ of. - ‘ rc

’

iI5cm
2(: 23.5cm
63 D)3L.5cm




M.i"h\ 8" p!.l(’(’(‘[i S ' -

(2 @ 9 ? / 40. G is the centroid of the triangle ABC,
* where AB, BC and CAare 7cm, 24 cm and

25 cm respectively, then BG is:

A, {”j fAae1 ABC &1 Howa 6 ¢, IUS! oATC AB, BC
| " 32 CA B2 7 cm, 24cm T 25 cm £1 BG &1

_ AAL:




M.i"h\ 8" p!.l(’(’(‘[i S ' -

41.In A ABC which is right angle at A and BC

-\ is 5 cm.. BL and CM are medians. If BL -

— cm.

-

.l “3 then CM will be
N~ A ABCH it Az IdIvfia 2 302 fAad BC = 5
Aaft. 3, A nfedas1o BL e om ¥ aTegaR, afd

a .. m =2 &Mt ¢ @ om 6 ssard fGast oty

(' -
8C+cm™ - S g™ A) 215 &t TR B rent e
4 .
9BE . o B)s zaal. M.
Tdalhel (c) 10V2 @ o

MR- TS L o Jree- (D)4\5M. -




42. PQR is a triangle such that PQ = PR. RS
and QT are the median to the sides PQ and
PR respectively. If the medians RS and QT
inter- sect at right angle, then what is the
value of (PQ/QR)?*?
mnmmmwﬁ tf@&pPQ=PRrRE RS
aer QT wALL: ajm:mpqamqu

zrf?. AMEASIC RS T QT HNSIV U2 uﬁiﬁz
Sl §, A (PQ/QR)* BTATA TN ?

[Fezrr)
C)2 =

(D) None of these




43. G is controid of given AABC.GN = 4 cm,

Maths By Pradeep Sir

GM = 3 cm, £BGA 90°, then find the length of
@) GC.
o 789 N\ 22 3 A ABC &1 Houd 21 GN = 4 A,
DN Vs GM = 3 A, e .BGA = 90° ¢, @ oc &
@v&®<‘- ‘ Saard A HifAv ?
> 2 S
& Q | (A) 6cm.
o " - (C)S5cm. A
(B)10cm. | S

D)9cm.




44. In AABC, the medians AD, BE and CF at
G. then whichof the following is correct ?
AABC & J1eO&® AD, BE 312 CF adfd ¢ w2

oAt AT a2

2A; AD + BE +CF >SAB¢ BC + AC)
B) 2(AD+BE+CF)>(AB+BC +AC)

Maths By Pradeep Sii




45. Consider the following statements:

1) The perimeter of a triangle is greater than

the sum of its three medinas.

2) In any triangle ABC, if D is any point on BC, then
AB+BC+ CA » 2AD.

Which of the above statements is/are correct?
fRsafa3faa suat gz fFar $ifdv:

1&10& & af?ag 3aéH fia aftdsd & ares

ﬂrzggqanci aRRecmEERATD L, A A8 +8BC
oCA » 2AD BYa 2

(A) 1only

(B) 2 only

(C) Bothland 2

(D) Neither 1 nor 2




v ma . m2 47. In AABC, the medians AD, BE and CF
meet at O. f AD, BE, CF are 10, 24, 26 cm.

r— - ~ then find the area of AABC.
T 3T s m)(enn e HABC H AD, BE 312 cF anfedsTe ur fAedt ¢
AD, BE, CF 10, 24, 26 &t 21 @t AABC &1

! m
( , ’ a4 ' g
) A ; > I o 4 9 r ' .
,71 # ‘,j\ -~ .) d
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I (B)180
” _ (C) 80 9 R
M+ e = Ma . (D) 170 <4 | © -y

r\”bp -;M\MY\J | \\ 7 \Lnl
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. - 48. In the given figure G is centroid of AABC
A (29 and BG= 13, GC = 9, BC = 5 then find the

/:‘/ value of AG?
/ & fof snpfa A, A Asc BBz 2 B =13,
GC = 9, BC =10 £ @ AG &1 #Tal Aita HifAv)

|§A;20 I




49. In the triangle ABC side BC is 10 cm and
G is centroid. BE and CF are medians to the
sides AC and AB respectively. If medians BE
and CF intersect at right angle then find the

length of AG?
AABC & W1 BC = 10 A, 3T ¢ Hog® 21 BE
T CF HAer: HTTHT AC 32 AB U2 FIfeASTE )

, af? snfeds1e ge 32 CF ISV U uidedz
“ et At ofon Ac & ST sma s

A)S
I_&\\
C)i5
(D) 20
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F 50. G is the centroid of APQR and medians
/| @ QT and PS intersect at right angle. If QT = 27
/ @< and PS = 18 then find the length of RT?
/ 1 &\ A& PQR &1 Faud 6 ¢ W FfeAS QT R
/ OpE o PSUB- ®! FAS G2 ufdedz st &) af?
O 'S/ QT =27 Mz Ps =18 ¢ A rT & S A A
_ L ~ A A) 10
/ (88 Jor-an | ay










AOxo D= BokeE = Cowof

F g gééf AOVQ‘) = Boy0E - (ayof


















(RSc=2¢h
LA& T IR
LA ~
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55. O is circumcentre of AABC if 4.BAC = 85°
LBCA =80°find £ OAF.

AABC ®1UR&se 0 21T LBAC = 85°, LBCA =
80° & LOAC 2-
| (A) 60° k) | (B) 75° ]
*c  (c)80° (D) 30°

D4+ +»30= |80

X 0O =< rpzﬂ 2o = 1Sy
— T




56. If O is circumcentre of AABC and 4BAC =
58° then find the value of £ OBC?

af? vs Ao ABC &1 URSe O § a1 LBAC =
 58°TAWLOBC BT ATATAIE ?

2\ (A) 29°

Maths By Pradeep Sii

(C) 48°
(D) 58°




57.Ina A POR.2Q = 60°, PR = 14V6 cm. find the

aths By Pradeep S

/
/ circumradius of triangle PQR.
a1 2 PQRA £LQ = 60", PR = 1476 AM T, Ao
/ POR&ETFT TSI A an ¥ ?
AL0
o —-
(A) N7 cm
’q"c‘. 2 R E_ﬂ (B) 7V3 cm
NG ﬁ
3
IR
]




58. Find the distance between incentre and
cir- cumcenter of a triangle whose sides

are6.8and10cm?

Maths By Pradeep Sii

1, F I T L L -
(A)VS
(B)v6
(C) 22

(D)7



A 60.INna AABC,AB=17.5cmAC =9 cm. Let's

D be a point on BC such that AD is

perpendicular to BC. If AD= 3cm. Then what

\ 1S g is the ratius of the circle circumscribing the
9 AABC?

A ABC # AB = 17.5 &3fl, Ac = 9 A3l JraT BC W

pfAgzavsrifF Av1ecaR Ap3AM T A

, ~ & AABC & UR&sy & A sima &2
*
R = A Yhec B) 52.50
y 2c 13.125
¢ - ;, D) None of these
—= 3 53
ﬁ.},x - A6 A
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6. What is the maximum number of
circum-circles that a triangle can have?

vH Ao & ufts A yfds fFaa ullga O
mz?

(A

lc)

c)3

(D) Infinite / 3/1d




62. O is orthocentre of AABC if 4BOC = 120°

find £4BAC
o fAs[e ABC &1 &aa Fag 21 A} LBOC =120°,

ae g-
A 10" ’

Maths By Pradeep Sii
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63. In a obtuse angled AABC, <A is obtuse
and O is orthocentre. If £zBOC = 54° then find
(BAC.
vs sfdssivfia R asc & A fds S 2
T IA® Feader ¢| agaane, AR LBOC = 54°
8, @ «BAC faan g ?

. OF

C)136 Q

(D) N6
@



M.i"h\ 8" p!.l(’(’(‘[i S ' -

64. If the altitudes of atraingles are 3,4,6.

p
//T Find the ratio of its sides.
N ¢ b faft Ao & diall sl H ssanfai 3,4, 6 2
At 3& A &Y oA &1 3s{ura FN-

A) 3:4:6

8 ~ |(B)4:3:2
a C) 3:4:) Ab
(D) None

' Ji
?/;ax": ~ 7‘:‘-»‘* - —i;xc;ﬁ A s lixﬁxQ
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~ 65. In a triangle two altiude are 4 cm and 12

{? s La 0 / J, cm respectively and all the altitudes are
L .0, Cha< {" | €" Lintegrers. What could be the argest
—— possible length of the third altitude?
v Ao A A &34 4 cm T 12 em 21 TaA
U )

m;grfmtlma?mﬁuﬁmm{
ATd B |

A4




I-

66. In AABC, <4A = 52° and O is the
orthocentre of the triangle (BO and CO
meet AC and AB at E end F respectively
hen produced). If the bi- sector of LOBC
and <OCB meet at P, then the measure of
BPC is:
AABC &, A = 52° 312 va Ao &1 &a &ap )
BO MR cCoOTa BN E WM FUZAC T AB A
¢ Wa 3a¢ ey fan wran 2)1af? coBC
WM oceBRursrRASAE, A BPCR:

§A; 124° AJ \Bo - LA A -
B) 132° % //cm A
: -

C)138°
s __1* -
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&
67.MAD = 8cmand 0D S(m-:—"' —fﬁndthovoluoof
OF’
4
afk A0 = s @M Mz oo = sAM — - - A ok A B
8 ¢
A Oy 2
<Y PIX T
QW = Ix™
Il: JQ + 0
3 (©) |~
X = J [Re )

’ (D) None
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6B.HAO=8B8cmand OD =5cm find BD-DC =
? af2 A0 = 8 At 312 oD = 5 At ¢ & BD-DC

.,i(), (J - AR | ‘1 O | Qv Ty
Ac - /

' A ( J/

: 14 § “3 ’.' - ' - , [ {«‘) "j / [‘ 4 )
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69.1f AABC and AD L BC,Pis pointof AD if AB
=16cm AC=15cm, CP=12cm is BP?

af? fAsgst ABC 312 AD L BC, P fASg U2 2 @t AD
WwRAB=16 M Ac=15@fice=1283f 2 A

AL

C (C) 47

E\81+C'1;A(L+gp\_‘ (D)b\ /

RTE+ 14y = Qa5 + BP™
L y

2
oo = =35 4 Re" Bp:

Be* - \"3§ &; Sﬁ




70. AABC is right angle triangle where £ABC

) qeﬁ? % = 90° and BN is perpendicular to AC. Here,
AB=6cm. AC =10 cm. then find BN?

AABC US Har®1vl R § fAaa caBC = 90°
o D 12 BN, AC U2 &34 21 I8 AB = 6 A, AC =

tz/?‘ i 10 A+ft. 2, 3 e faen g 2
Y EE
o \

3 < S EX p s |
(D)4.4

. Cx% _ . -
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71. C is the mid point of AB and <BAD is
equal to £CBE and £ECA is equal to £DCB. Iif
<E = 30°, Find D.

af? c, AB &1 ey fasg ¢ 3T (BAD, «CBE &
T LECA, .DCB S AT LI PR ZE=30° ¢, A
LD =?
(A) 60°
(B) 15°




72. The sides of a triangle are 4 cm, 8 cm
and 10 cm. Find the length of the shortest
side of similar triangle whose longest side is
IScm?

v R &1 oot 4 Aafl, 8 A 32 10 AA 2
I8 FASU Ao H FaA S aon T g,
fAadt gad st aomn 15 Aaft 2

(A) 4 cm [ Aft
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b 73.Ingivenfigure AD=6cm AP=BP=3cm,

ZAPC = £LBPD and 4DAP = LEBP then find BC?

22 3@ A3 & AD = 6 A, AP = BP = 3 AM,

¢ o ¢APC = (BPD 312 .DAP = /EBP B, & BC &I
AT Ara HIfAA 2

\\ A) 3 cm/ 33t
TN . (B)6cm/ &AT
: .’ c 5 cm s :
(D) None




74. D is a point on side BC of AABC such that
ADIBC. E is a point on AD for which AE: ED =
5: LW 4BAD = 30° and tan £ACB = 6 tan DBE
then £ACBIis?

fAsf aasc Hl aymec RorH e AT R, &
AD, 31 BC UZ &34 21 E, AD W2 Us flss ¢ e
AE : ED = 5:1 2112 .BAD = 30° 312 tan ZLACB =
6 tan .DBEE!, @ LACB=?

(A) 45°

- o {m@ ;%' L_—_‘:_\
D = .
Qc=e3)[(c)60°

D) 90°




?
AD =8

75. In a triangle ABC, AD is perpendicular on
side BC. E is the foot of perpendicular on
side AC from vertx B. AD and BE intersect
each other at point O. If AC = BO then find
LABC?

fA3(% ABC # AD 3fGT1 BC U2 &4 21

AC TU¢

:ﬂﬁmﬁwﬁmmmtuo BE U
. A LABC &1 #ATS Fra HifAd 2
A) 30° o
D) UBlase | ¥
C) 60° ®
(D) 90°

fasg o w2 wfdwdz &ea ¥1afk Ac =8O

»

@ “ .‘ {
/\<D\ " s s




76. AD is perpendicular to the internal
bisector of ABC of triangle ABC. DE is drawn
through D and paraliel to BC to meet AC at
E. If the length of AC is 12cm. then the length
of AE (incm) is.

AD fA3@ ABC & . ABC & iafl® fRais &1
&d 21 DE, D & A1&T X BC & HAATa T
aran ¢ fAaA Ac &) £ 2 f@® &&) afk ac $
%gnzm.zmaeﬁm(m.mm

9 A\

A ‘ 28} 3 | -3\ . \ 0
D 8 4‘4'

8
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(&5

£ 2

‘“) = '\_) \4

Pl P = 3.y

77. Vertex angles of two isoscles triangles
are equal. If ratio of their height is 3: 4, find
the ratio of their perimeter-

z’t gafgarg Rl & o Hor o= T alk
Il Fargal &1 WS{uTd 3 : 4 ¢ @ Iad afRaral
&1 HS{UTd ZIM-

(A) 6:8 (B) 4:3

(C) 9:16 ' (D) :i:b]
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\’\S CO(‘
£
Fﬂb? .
=
. P

4

79. In the given figure, if = = = and PY = 18 cm,
Ly 9

then what is the value (incm ) of PQ ?

Ayfaplad, afr ™ - “aupy - 18 @M. A AN
po@TaTS (ARt AT ?
[ (a)28 |

(8)18

(C)2

(D) 24
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pv 81. In the given figure. if AD = 12cm, AE= 8
© cm and EC = 14 cm, then what is the value
¥ S incm) of BD?
0, of snpfad A, af? Ap = 12 A, AE = 8 A
L aen ec =14 A1, 2, @ B0 &1 v (A, H)
D \\_‘ t?
" (A) 50/3
0
Cm
ABC v A A\C)8/3 |
S n (0) 4473
1;9;_1 i J ‘4 "’:’ Y '“‘(‘f 9 - /d ‘.
Sy Y
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A B

AABC ~ A Pofp 83.Let /. ABC .‘.QPRond::

~ . MAB = 12
16

cm, BC = 6 cm and AC = 9 cm, then QP is equal to:

Frros, ) 16
ATSAT 4 ABC ~ 4 QPR 3™ ::; ~ 21af AB
Y 3 Y |
— 2emBC=6cmMRAC=9cmE A QP aoraz
ay (A) 16 cm (8) 9 cm

(C)12em (D)8 ecm
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T == W0 5
@ 88.Inthe giv.n ﬁgurO ~ ' 08 - th -

T Resefad=— - - = - -3 @ sadife?

s DD
(A) =




- &5
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1] Sra A

89. In AABC, point O is intersection of AB, BE
and CF it divides AD in 4: 3. Iif area of BOD
and DOC are 26 cm* and 13 cm®. Find the
area of AABC
fAs aBc &, s O, AB, BE 312 CF &1 BT
taE AD ! 4: 3 ye[uTa ¥ RanfAa
¢, af? A BoD 32 DoC &1 FAES
waer: 26 3213 AM. 2, A aABC & TGS

(A) 52ecm?

B)S6cm?
C)S54cm?
(D Nonﬂ




-
-
.\\

€ 9@
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& W

90. In the given figure 0 is in-center of /. ABC and

A0 7 €0 % BO

—_—e —= - =7

0O} s OD ’ OF

aRMA AN, cascH IABRENMR S - - = = -
t. @ 2 &1 e s $fAA

(@3 |

(€)=

(D) None
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91. In the given figure % - "—:’ ; then find the value of

CE

EA
f%cmf%ai;‘-; - 22 L 2 @ v A S ¢

2 M : P A

In the given figure =~ - - 3 " then find the value of =~

Resefads 3—: ta‘f,’,'mmmma ’
(A) 53 OF
()5 (D) None
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RO 93. AD is the median of A ABC if AO: OD=5:3
( find the AE: EC.

5:6
e L&\%S:B]

(o] 3.4
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94. In the given figure AG:GD = 3: 4, BD: DC =
D\ ¢ 4:7, AE = 24 cm then find the length of CE.

/(“r RAMA AT A AGGD =3:4, BD: DC 4: 7, AE =
- Y . 24 %M, A ce sma HA »

@Q_5 7\_@ (A) 44cm
ﬁ e b \(e) 88 em|
3 N 3 (C) 84cm

8 (D) 85cm
=R
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A0

],

Reaefiad -

’

’

)

95. In the given figure —

i\

AD

P

' Al

> B

" then find the value of
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' 97. In the given figure AP=6cm, CP =5cm,
PD=2cmPE=1Icmand PF=3cmthen BP =

eReyefRaAAr =6, cPr=5 3., PD =
28M. . PE=1cm @M. 3T pF =32 alBP &
G IGE 1L K

‘-~ (A)5em
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98. In AABC, AO: OE=5: 4, CO: OD = 3:2 then
find BO:OF=7?

af2 A& AABC, AO: OE = 5:4,CO: OD = 3:2 ¢,
al BO : OF Fira $HifAA »
(A) 38:7

(B) 36:7

(C) 29:4

(D) 4:7
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99. In the given figure 0 is in-center of A ABC

AD 7 €0 5 BO

and if — - then —
OF

O}F $ OD }
ABC 1 3oa:doe § e ; o
Ara HfAA)

(A) =
(€)=

(8) =

(D) None

caRmAfRaAo.,

A m A=




21T a)el

A Ls 'flléo\.ruie.ﬂwyz
{2 = 26 ST ALY
€3 = ¢3 LY== £¢
<4 = LB [3- ¢s

(2 4+L6= 1%
LYy+l5= (Ro
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A k. . 101. In the given diagram AB || GH || DE and
80 GF || BD || HI, .FGC = 80°. Find the value of
F ¢CHI. Re 71e f@a A af? AB || GH || DE 317 GF ||
a 4 . BD |l HI, .FGC = 80° §, @ LCHI &1 #ATS Fd
L T4f
p
1 - | (B) 120°

- (C)100°
(D) 160°
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102. In the adjoining figure, a star is shown.
What is the sum of the angles A, B, C, D and

E?
RewffaAaIRam sz A ST A, B, C,
D 312 £ &1 31 Fra A}

(A) 120°

B) 180°

(C) 240°
(D) Can't be determined




103. In the figure find x. x &1 #ATa JATd &2

(B) 50°
(C) 45°

Maths By Pradeep Sii




104. In the figure find x. x &1 #Ta JATd &2}

S . (A) N0°

Maths By Pradeep Sir

|

/ |0 (C)105°
A : .)\oo % - (D) 9Q°
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105. In the given figure PQ is paraliel to RS, <
AEF = 95°, /4BHS = 110°, and £ABC = x° Then
what is the value of x ?

Re v 3@ A pQ, RS A TATAT B, LAEF = 95°,
(BHS =M0° T LABC = x° 8, A x BT HATA FATE ?
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106. In the figure find x and y.
x, y &1 HTal ATd S|
(A) 40°,95°

> (B) 55°,95°

“ |(C) 95°,40°

(D) 90°,45°
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107. In the given figure lines AP and OQ
intersect at G. f LAGO + /PGF = 70° and
(PGQ = 40°, Find the angle value of LPGF.
22 A A7 & AP 3R 0Q, 6 flsg W &read ¢
HIZ LAGO + LPGF = 70° M2 .PGQ = 40° A1 A
(PGF 1 AT ATd &2
(A) 35° (B) 40°
186 (¢) 60° (D)30°

L
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108. Find the values of x and y?
x 312 y &1 ATA AT B2

(B) 65°,70°
(C) 50°,72°
(D) 72°,50°
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109. Find the values of x and y?
x 31T y &1 ATS FATd B2

(A) 60°,100°
(B) 65°,105°

(C) 105°,65°

(D) 100°,105°

LN

-
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N0. Find the values of x and y?
x 31T y &1 ATS FATd B2
d>295 (A) 75°,90°
RS ) (B) 90°,75°

(D) 95°,70°

X

P .
0

R —
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NM.Findthevaluesof x, yandz? x, y M2 2T
AT ST B

(A) 127°,50°, 50°
(B) 130°,50°, 50°
(C) 120°,50°, 50°

(D) 50°, 50°, 130°
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N2. Find the values of x ?
x &1 ATH ATd B}
(A) 50°

\

\;c) as°
So A (D) 60°

<

| 30
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3. Find the values of x ? x &1 AT FATd &<
—{(A) 120°
(B) 105°
(C)125°
(D) 100°
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4. Find the values of x ? x &1 #ATS JATd &2
(A) 75°
(B) 60°
(C) 45°

o
O

/I
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5. Find the values of x and y?
x 31T y &1 ATA AT B2
(B) 87°.15°

(C) 81°,121°

(D) 73°,105°

| 8o

- .
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6. Find the values of x and y?
x 31T y &1 ATSA FA1d B2
(A) 71°,32°
(C) 69°,31°
(D) 72°,31°
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N7.Find the values of x ?
x &1 AT ATd He |

(A) 55°
(B) 53°
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N8. Find the values of x ?
x &1 AT FATd HE|
(A) 79°

—(B) 81°
(C) 89°

\/l(&(}
..

- —
—
—
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’51?

N9S. Find the values of x ?

%f) « 351 3731 T Y

(a) 141°
(C)143°
(1) (D) 144°

\8@ ()

—————— L 4

JCO




Maths By Pradeep Sii -

120. In the fig given below PQ|IRS||ITUlIVW, PR
=I0cM, RT=22cm, TV=16cm, QW =42cm
then find QS?

fRe e A3 A, PQlIRSIITUNIVW, 3T PR = 10

cm, HAI RT = 22 cm, AT TV = 16cm, Al
QW= 42 cm AT QS BT AT ATd B2

(A) 15 em

(C) 22.5¢m (D)12.5ecm
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121. In the given fig AB |ICDJ| EFJIGH, if BH =
BECcMAC=21cm, CE=12cm, QR =18 cm
and RS = 21 cm find the value of EG + PQ +
DF? 2T e f@3 & AB |ICDIl EFIIGH 3T BH =
188 cm, VAT AC = 21 cm, AT CE = 12cm, Al
QR=18cm HAI RS = 21 cm, EG + PQ + DF &I

AT AT B ?
(A) 91.5 (B) 93.5
(C)97.5 (D) 99.5



122. In the given fig below AB ||CDJ| EF, if AB = 30

; cm. EF = 50 cm, AC =;’ CE and BD is x cm less
67& \ than DF then find CD = ? 4 Re e A3 & As ||
AN > CDIEFTfR oo AB =30 cm MZHATEF = 50 cm,

q]l/ \ AC = CE, U1 BD, W1 OF & x Al & 21 a@ afon
: = F CD T AT FUTEIN ?
/ ,020“50 \ A) HO

199

Maths By Pradeep Sii

293

‘

(D) 300 cm
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123. In the given figure O is the centre of the
circle. AC = BC and £AOB = 120°, then find
the value of .CAO.

22 312 @7 A g9 &1 ¢ 21 AC = BC TAUT LAOB

=120°21 a1 LCAOECTmm-
e
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124. In the given figure O is the centre of the
circle. . OAB + £ OBA =100°, find the value of
LCAB + LCBA.

ﬁz}m}faaﬂqammzl LOAB + LtOBA =
, 100° 21 @1 LCAB + LCBA &1 HTS EI9N1-
iy (A) 50°

(C) 60°
A
p (D) 55°
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125. In the given figure O is the centre of the

circle, then find the value of £4BCO.

22 A A= A ga & e ¢, @ .8co & A=




Maths By Pradeep Sii -

126. AB is diameter of the semi-circle. Find
the value of BDC.
21 .BDC &1 AT~
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127. In the given figure, if ZAOP = 75° and
LAOB = 120° then what is the value of
(AQP? 33Uz fRe v fAa &, af? LAo0P = 75° 3R
LAOB = 120° & LAQP fgs?rm g?

(A) 45°
(B) 37.5°




129. An equilateral triangle ABC and a scalene

Maths By Pradeep Sii

D) triangle DBC are inscribed in a circle on same
“side of the arc. What is 2BDC equal to ?

S AFag A ABcC 3R s fAwarang A peC
US §d A 99 & v @ AT 3ifda fe and 81 «epC
fFadsazae i

(A) 30° (B) 45°
(C) 60° (D) 90°
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130. The centre of the circle which passes
through points A, Band C is O. If £4BAO =
30°, «4BCO = 40° and £AOC = x°. Then find
the value of x. @3l A, B @21 ¢ A ot a1
US § &1 &ow ¢ T LBAO = 30°, LBCO = 40°
HT LAOC = x°, x BIATA T L ?

(A) 70° (8)140° |

(C) 210° (D) 280°
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131 In the given figure O is the centre of the
circle and ABIJICD. If LZADC = 25°, then find
(Aeg- fRaAgaEmdsmotlzaslico ¥
af? LADC = 25° ), a’uAeamzﬁfav
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132. In the given figure O is the centre of the
circle. £ROS = 44° and RO is the angle

(PRQ &1 TAATZHTAS RO T A LRTS &1 AT~
(A) 46° (B) 64°
(C) 69° (D) 68°
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134. Inthegivenfigure, £ QRU=72° L TRS = 15°
and PSR = 95° then what is the value (in

degrees) of 2 PQR?
@ i anpfad A, LQRU = 72°, LTRS = 156° FA
(PSR = 95° 2, @ LPQR &1 Ta (Rf) Awm 2 2

) (C)75 N - (D) %0

0
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135. In the above figure, YAX is the tangent
on a circle having centre O. if £BAX = 70°
and 2 BAQ = 40°, then what is the value of
ZABQ?

It fa A, vax ga & aw & ¢, =uef
oo ¢ af? .BAX = 70° 3T .BAQ = 40° §, @
(ABQ fFa& aTraz e ?

(A) 20° (8) 30° x @/
(C) 35° (D) 40°
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136. Radius of two cocentric circle is 13 cm
and 8 cm. AB is the diameter of bigger circle
and BE is the tangent of smaller circle and
touches smaller circle at point D. Find the
length of AD.

2 Adevl gal & A waer: 13 AM. Jon 8
aafl. 1 AB @3 g9 &1 A ¢ Jen BE B2 gE W
meftm!ammgaﬁoﬁauzmafm
1 Ap & saard sa ?

B)19 . %
C)30 ' Qa
2 (D) 31 At

b

Jiog
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137. In the given figure O is the centre of the
circle. Line UTV is tangent to circle at T. VIR =
52° and PTR is an isoslece triangle such that TP
=TR.Whatisthe value of x +y + 2?

fRe e f@a & g &1 & 0 21 @ uTv gE Bt el

@ SH T W R, LVTR = 52° 31 fAewA PTR U HARaE
l%% Ry g savsrEfE P =TRE-
x+cy+ afSaSaTTWE?




%5&%& PAB be a secant to a circle intersecting
the circle at A and B. Let PT be the tangent

segment. If PA = 9 cm and PT = 12 cm, then what

= PAXPS is ABequalto?
o T e SAv paAB s ga 6 ve Bz 2an ¢ ot gu &)
A 32 B W2 wIedt ¥ e FifAe pr el 2o
p (EAz @A) 1aRkPAa=9cm iR PT=12emE @
9 AL @ AB fFad® aoraz 2
U272 959y (A) 5 em (8) 6 cm
Mgty [©@7em (D) 9. em




T 140. A circle is inscribed in a quadrilateral ABCD
touching AB, BC, CD and AD at the points P, Q, R
C and S respectively, and 4B = 90°. if AD = 24 cm,
AB = 27 cm and DR = 6 cm, then what is the
circumference of the circle ?
P, Q R 312 s A3 9z &2 AB, BC, CD 31X AD &)
=el ®2a v vs uqgef Asco & ftar v gw
ST AT § a1 4B = 90° 1312 AD 24 A, AB 27
A3 302 DR = 6 A 2, A g H oA wwn § 2

A) 20m

{B)18n o 1LY
C)iSn

(D) 12n XYy T

JaD




143. Two circles touch each other externally at
point P and AB is a common tangent which
touches them at point A and B respectively.
Find the value of £ APB.

2! g9 vs R @) p sy U2 avg) 2ol &2a § aen AB
v Heh Jorafates zael 2an ¢ ot 3¢ waver: A e B
fasg 3 a2 zqef szt 1 LaP &1 341 21oN-

) 45

(C) 80° (D) 100°
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147. f PA and PB are tangents drawn to a circle
with centre O at A and B from external point P
\J\’) such that £ APB = 78° then LOAB is equal to:
H' afd pa 312 pe aTg] AT P A &7 1S ga & AT A 32
/ 8 gz 3 orf el 2ame €, M sa v 2 & cAP8 =

78° £, @ LOAB &1 HTH FATd B2

(A) 12° (B) 29°
(C) 39° (D) 36°
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(h —2)X130

160. The sum of the internal angles of a regular

- polygon is 1440°. The number of sides is:
G\*QW*—@?/:“T*T;é US AFAgHA & wialks Sl &1 a1 1440° 2

MN-a =8 Wﬂﬁﬂﬁﬂ%t"
= R4 (A) 12
(B) 6
= 0 (C)8
(D)1

= 2)X 130
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161. The ratio of sides of two regular polygon are
12 2 and the ratio of their internal angle is 2: 3,
what are the number of sides of both regular
polygon.

A ARl H ool & wFWE 128 W IaS
yiafts Sol & da &1 ysara 2:321 Ik 35 A
agTon &Y oo Y Fzmn waer: Fasft @ 2

(A) 6,12 (B) 5,10

(0)7.14
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162. ¥ number of diagonals of any regular

polygon is 14, then value of each interior angle

of polygen is.
af? faft awagy A Revil $ dwm e, @ =

TEIHA & TS HToa(ed BT H1 ATal M ?

7 (n-3) = a8 D=3) () 120
65*&"3) -;\f’l)ﬂgo‘ gy\\go °\0
R i

(C) 135>

(D) 140
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_ U 0
£ - 5 163. ¥ the measure of each exterior angle of a

regular polygon is (51-) , then the ratio of the

2 number of its diagonals to the number of its sides is:

T36o _ 3ee @ US FA-TEHA S TS apdA S S g (51-) 2zES
i K fAwol $ @z 32 zad! sl & JEm &1 s F

“(3’3?: ?g:ir:w (A) 5:2 Sl%
(B)13:6
| (c) 3




164. If each interior angle of a regular polygon is

| 128 3 ) , then what is the sum of the number of
its diagonals and the number of its sides ? af2

faft aaaga@ &1 vl® uiafk®s #Yor (128°) 2, @

WMﬁmmmﬂmmﬁmm
aEmg?

Maths By Pradeep Sii
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760 e A 166. Iif ABCDEF is a regular hexagon, then what is
™/ the value (in degrees) of LADB?
L
af? ABCDEF US HAUTHA 2, @l LADB &1 Ha
A BCoDEF (Raft) Awm 2 e
) v — -(n=6
(A)15
[ADY  gs
wg\x‘ (c) 45
(D) 60
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169. An equilateral triangle of om)@ cm’ is
cut from its three vertices to form a regular
hexagon. Area of hexagon is what percent of

J{ ~ \)3/ the area of triangle?
L//% s Faag Ram Gas daes 390\ a#f.: ¢, &
Ia& fia oftal & v FHUZHA aaTa & A H1

, ATAT 81 G HA BT TGS Ao & A6 &1 fFaan
6 ufdera»
——q——)((Q’O (A) 66.66% (B) 33.33%

(C) 83.33% (D) 56.41%




